SOLUTIONS

Math 253 Calculus III (Bueler)

17 February 2023 Not turned in!

Worksheet: Limits of functions of 2 or 3 variables

1. Compute the limit:
$$\lim_{(x,y)\to(2,3)} \frac{1}{y} - \frac{1}{x} - \frac{1}{x} - \frac{1}{x} = \frac{1}{x} - 2 = -\frac{5}{3}$$

$$= \cos(y) because f(x, y) = \frac{1}{y} - \frac{1}{x}$$
(s confrictions at (2,3)
2. Compute the limit:
$$\lim_{(x,y)\to(0)} \frac{x^2 - xy}{\sqrt{x} + \sqrt{y}} \stackrel{=}{=} \lim_{(x,y)\to(0,0)} \frac{x(x-y)}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} + \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(x-y)}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = 0 (0 - 0) = 0$$

$$= \exp(-\frac{1}{9} - \frac{1}{9})$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}} = \lim_{(x,y)\to(0,0)} \frac{x(\sqrt{x} - \sqrt{y})}{\sqrt{x} + \sqrt{y}}$$

$$= \lim_{(x,y)\to(0,0)}$$